Consolidation work 21 Second Level ***

1.  3.2 + 3.41 + 12.04 

2.  9246/100

3.  71.45 x 8

4.  60% of £45.60

5.  5/6 of 4800g

6.  Write three fifths as a decimal. fraction and percentage.

7.  0.296 litres = ____ ml?

8.  The ratio of Swiss to French pupils is 3:7. There are 18 Swiss pupils, so how many French? 

9.  Simplify 240/720

10.  1 adult ticket costs £41.04. How much would 8 adult tickets cost?

11.  Round 3480.04132 to three decimal places. 

12.  6 – 13

13.  What are the missing angles in this parallelogram: 65 degrees, ??, ??, ?? 

14.  What is 9 squared minus 7 squared?

15.  What is the area of a rectangle with: length = 5.3cm and breadth = 6cm?

16.  Order these numbers from the smallest to the biggest: 

24.57,   24.075,   24.5,   24.05,   24.52,   24.005,   25.07,   25.7

17.  Josie bought 5 cards, each costing £2.78. She paid with £20.00. How much change? 

18.  A plane took off at 1355 hours and landed at 1705hours, How long was the flight? 

19, 4001 - 3978

20. 3496 + 2476 
